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[ Level-3 /1304 ]

Which type of education would be
appropriate for socially deprived
children ?

1) Informal education
2) Special education
3) Inclusive education

4) Religious education

Which of the following statement is
correct regarding adolescence,
under Erikson's Psycho-social
development theory ?

1) Ego-identity is a positive
psycho-social aspect.

2) Ego-identity is a negative
psycho-social aspect.

3) Ego-identity is a neutral
psycho-social aspect.

4) Ego-identity is not just a

psycho-social aspect.

Which of the following characteristic
is not seen in a creative child ?

1) Divergent thinking
2) Extreme curiosity
3) High imaginations

4) Conventional thoughts

P.T.O.
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[ Level-3 /1304 ]

Which of the following characteristics
does not have a positive effect on the
process of socialization ?

1) Socially approved behaviour
2) Playing approved social roles
3) Development of social attitude

4) Development of social
prejudices

Vygotsky's 'Zone of Proximal

Development' refers to :

1) What the child can do
independently

2) What the child can't do
independently

3) What the child can do with
guidance of knowledgeable

person
4) What the child can't do even
under guidance of

knowledgeable person

If a learner does not achieved the
expected performance, what type
of testing is done to find out the
reason ?

1) Formative 2) Diagnostic
3) Remedial 4) Summative

"Inclusion is not confined to the
disabled but it also mean no
exclusion of any child."

This meaning of inclusion in
education has been clarified by :

1) NCF 2005
2) NCERT
3) UNESCO
4) UNICEF
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8. Q_’@ g @ ¥ 9 JeR % qRaad 8. Which type of changes occur in

Aq g ? growth and development ?

(@) X & TR H 9Raaq (@) Change in body size

(b) SRR & U H IR (b) Change in body proportion
(c) YUH Tl &l faeiia (c) Disappearance of old features
(d) A faQarett 1 AR (d) Acquisition of new features
@&l R B TI HIOTC : Choose the correct code :

g - Code :

) (@), (®) W@ () 1) (@), () & (c)

2) (), () W@ (@) 2) (a),(b) & (9

3) (a),(c) @ (@ 3) (a),(c) & (d)

4) (@), ®), (c) @ (d) 4) (a), (b), (c) & (d)

9. Ffafad & | HH-A1 HIF AEREN 9. Which of the following statements

& ARH W HHRIHS TG W< 78] does not explain the positive

Y 7 impact of motivation on learning ?

1) SIERET diEw & Faer @l & 1) Motivation impairs learning
F & behaviour

2) RO HiEM @ FaeR @l 2) Motivation provide definite
ffeea Ry #H B direction to learning behaviour

3) AMEROT e & FA@RR | 3) Motivation energizes learning
qfkaar AN © behaviour

4) TN HEeW & FGRR B 4) Motivation makes learning
CERICACEIRIE behaviour selective

[ Level-3/1304] P.T.O.
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Il &Y
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(b) HAfKaR T fa-w 11

(c) IR STy Te i
JafRTE SR

(d) AEHHE FEm

7&7 FT & =TI HINTC

&< -
@ M © @

H 1 m uI

2) m m m I

3y I m 1 I

4) 1 I Im

S ST el wE T feRel
T 1 IR & AU AW B HE
ST &, O 39 &8 © ¢

frefifeg & @ @9-@1 HF Afas
IR % d9y § TE 78 2 ?

1) 3 gifEs & ¥
2) 3 TG B &
3) I Hfad WX & oL oTasa® B &

4) 9 g B qERAG 9 geiaa T
ad 8

[ Level-3 /1304 ]
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10. Match the stages of morality with

11.

12.

their level, under the Moral
Development theory of Kohlberg :

Stages of Morality Level of
Morality

(@) Good interpersonal I
relations

(b) Individualism and II
exchange

(c) Social contracts and 111
individual rights

(d) Universal principles
Choose the correct code :
Code :

@ M © @@
) 1 111 II I
2) III II 111 I
3) II 111 I II
4) 1I I 111 111

When the learner learns a task
automatically, without any desire
or purpose, then it is called :

1) Massed learning

2) Whole learning

3) Partlearning

4) Incidental learning

Which of the following statement is
not true regarding biological
motives ?

1) They are universal
2) They are inborn
3) They are essential to survival

4) They are not related with
homeostatis in the individual
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1) (a),(b) T (d)
2) (a), () W (c)
3) (a),(c) T (d)
4) (a), (b), (c) W@ (d)

14. Frfofed & & a9-a1 FF IRE
Thee & deet § w8 78 2 7

1) ToeieY & qE T@RT GOl T
ferqres gdieror B

2) i Tdeor  dFfede  oT¥er
HfeH a1 TR & & Fhd ol

3) oA aAfe fsaes qhiEer {et
FT Thd|

4) FgniEh Rl H OgRE H A
felt @ oTepioEl ERT B B

15. fr=ifafad & @ $iF-a1 g Fase
Rromardt gfs Reid & o=rid gis
T U@ SH% o9 » G99 H
7 &7
& & T
1)
2) G5
3) YT
4) gaY

@pﬁb-&l}

AN
IR
T
T
fererrareg

[ Level-3 /1304 ]

13.

14.

15.
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Which of the following
examinations are the basis of

continuous and comprehensive
evaluation ?
(a) Written (b) Oral

(c) Behavioural (d) Practical
Choose the correct code :
Code :

1) (a),®) & (d)

2) (@), () & (o)

3) (@, (c) & (d)

4) (@), (), (c) & (d)

Which of the following statement is
not correct in reference to
intelligence tests ?

1) Alexander's Pass along test is a
performance test.

2) Verbal test can be either
individual or group.

3) llliterate people cannot do
performance test.

4) In non-verbal tests intelligence
is measured through pictures
and figures.

Which of the following pair is not
correct regarding elements of
intelligence and their dimension,

under the Three Dimensional

Intelligence theory of Guilford ?

Elements of Dimension

Intelligence

1) Unit Product

2) Cognition Operation

3) Evaluation Operation

4) Relations Content
P.T.O.
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16.

11.

18.

19.

frffag & @ ®9-G 99 Biwd

;ﬁmq e i wgE fadwa 78
?

1) GefE dEe & oEEr

2) UHd [T 7R

3) HId Yok
4) gaw e i

qUgq & , UEOTESE dEn @
-1 e ST 7

4) T HIE (3F5H) qeH

[ Level-3 /1304 ]

16.

11.

18.

19.
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Which one of the following is not a
key feature of child centred
learning approach ?
1) Meaningful
opportunities

learning

2) Single learning pathway
3) Continuous assessment

4) Accessible learning settings

According to Bandura, which is not
the interrelated processes of
observational learning ?

1) Attentional Processes

2) Retentional Processes

3) Motivational Processes
4) Conjunctional Processes

According to Bandura's Social
Learning theory, what is it called
when a person learns the same
behaviour by observing and
repeating the behaviour of others ?

1) Adaptation
2) Self-observation
3) Modeling

4) Efficacy expectation

Which sub-component is not included
in componential intelligence under
the Stermberg Triarchic Theory ?

1) Meta component
2) Experimental component
3) Performance component

4) Knowledge acquisition component
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T o EFEar S iR
BT F STRTRY HT qAfad HA 8 ¢

1) ehagar 2) feenfter
3) fewifrmr  4) feaifmfemn

WEE & ArTh e Rl @
Ul oEefel % gel B W °9dd
I

1) gEEen — i ggemEeEr -
HTREE -  EEERT -
EREIERICE)

2) TEEEl — FEEEe — [
TgEERT  —  SESEdEe -

BREIELS]
3) JEEEl — TEERT — (o
qqEEeT - SFEEe —
EEEIE-RICI)]

4) FFFEE -  EEE o
YO — e — [
eTeTere

YoqE & e ofjEed oI
SEITh! & SIAHT BN HIF-AT BIicTh
F e H Fdlfs gHad T ?

1) HHFIH 2) fodifaa
3) Gad 4) 9T
e & G O Meid @
fpg  ofawem  H faq  aun

%HmFeﬂEWT % e A @ Sl
?

1) Hag-Te

2) Yd-GHAS

3) Ho-HichaAh

4) NTERE-HHAHS

[ Level-3 /1304 ]
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A learning disability that affects the
acquisition of arithmetical skill is :
1) Dyscalculia 2) Dysgraphia
3) Dyslexia 4) Dysmagnisia
Choose the correct sequence of
the five stages of Freud's Psycho-
sexual development theory :
1) Oral stage — Phallic stage —
Latency stage — Anal stage —
Genital stage

2) Anal stage — Latency stage —
Phallic stage — Genital stage
— Oral stage

3) Oral stage — Anal stage —
Phallic stage — Latency stage
— Genital stage

4) Latency stage — Anal stage —
Oral stage — Genital stage —
Phallic stage

According to Pavlov's Classical
Conditioning theory of learning,
which temporal sequence
presentation of natural and
conditioned stimuli will most affect

learning ?
1) Simultaneous 2) Delay
3) Trace 4) Backward

In which stage of Piaget's Cognitive
Development theory does the
ability of abstract thinking and
generalization develop ?

1) Sensory motor

2) Pre-operational

3) Concrete-operational
4) Formal operational

P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

= |V

[10/A]

24.
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21.
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1) @ Uode & & G

2) @
3) IYARHS [Rreror
4) 4T HEFH

frfofag & @ aF-or uEsh Ren
H T Eid & ' 7

1) TRl &l i

2) T @ f=ia

3) fafgear & sis9 79 &1 Rsid
4) T & R & &S|

frfafed § @ PM-a1 q@ Jafe®
Rrraiell & orgaR Reor & awelq
7&f e ?

1) el @ w81 @9

2) JafRIH AP

3) dlg4snH \51‘\1‘{231‘1

4) TaaRigl @ auaet @1 a=

fofite  STEsgRdel 9@ S= @
AEPEN B W FE H Jehm
eI & g & S 7

1) foFT 99 & faemed § masr &

2) gaw g glaEmd e e

3) I Ml SMETHa B TEAMI
Td GO § 9T T

4) IR AEWF TEEd JaW &
ST

[ Level-3 /1304 ]

24.

25.

26.

21.
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Which of the following educational
arrangements shouldn't be made
for talented students ?

1) Opportunities for independent
project work

2) Acceleration
3) Remedial teaching
4) Enrichment program

Which one of the following is not a
principle of inclusive education ?

1) Principle of segregation

2) Principle of cooperation

3) Principle of celebrating diversity
4) Principle of right to education

Which of the following way does
not support the teaching according
to individual differences ?

1) Large group of students

2) Individualized instruction

3) Curriculum adaptation

4) Knowledge of student's abilities

Which is not a role of educational

institutions in addressing the needs

of children with special need ?

1) Admission to school without
discrimination

2) Provide accessible
infrastructural facilities

3) Identify their special needs

and exclude them from
mainstreaming

4) Provide necessary support
services
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Which of the following statement is
not correct in context of

development ?

1) Development is the product of
maturation and learning.

2) Later development is more

critical than early development.

3) Development proceeds from
head to foot.

4) Development proceeds from
central axis to extremities.

The three dimensional model of
the inclusive education

propounded by whom ?

1) Criffith, Cooper and Ringlaben
2) Gartuer and Lipsky

3) Kauffman and Hallahan

4) Levenski, Davis and Hooper

"Socialization means attaining of
maturity in social relationships."
This definition of socialization is
given by whom ?

1) S S 2) Me 1) JohnDewey 2) GCarret
3) aR=a 4) &WH 3) Soremson 4) Hurlock
[ Level-3 /1304 ] P.T.O.
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2) HK® - qa9d 9=
3) faast - W 9=
4) VA - ke o=
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1) HIMET = FA + AEH

2) Y = amr + ST

3) AMHIN = T h + 0

4) TgH = Y + A

[ Level-3/1304 ]
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M & ey ¥ PN-a1 B FET

g ?

1) T % MR W 9999 & B8
AT

2) ‘B JA FY  ACEIIEE
I I

3) ‘TEVEEE AW & IR e AW
SIS

4) 9 M § JRT B G SFgar
[ B B aEg B A A R
S FMyearEs 699 Fed ol

fre faeq 4 Rodaeis 3= ommT
T ?

D 99T - Jadd

2) T - HENE

3) &9 - ad

4) M - WE

THT ® MU THA 9= P Gey H

ST T T
1) S & H g | IFRE T & -
3y

2) Frad =18 Bz 7 & - Ay
3) 4R § oM Al HAFT - A

4) N HoE WM P fow Sk -
R

[ Level-3/1304]
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Si3sft / ENGLISH
Direction : Answer the following questions by selecting the most appropriate option.

GET IT ON
Google Play

46.

41.

48.

49.

Fill in the blank with the correct
option :

Note it down ........... you should
forget it.
1) that 2) Dbecause of

3) till 4) lest

Choose the correct option that
gives the meaning of the given
idiom :
Spill the beans
1) increase work
2) face agreatloss
3) toleak asecret
4) segregate

Fill in the blank with the correct
option :

The Pak army turned hostile .........
ISIS.
1) to
3) at

2) for
4) with

Choose the correct passive of the
given sentence :

Please give me some more time.

1) Some more time might please
be given to me.

2) Some more time may please
be given to me.

3) Some more time could please
be given to him.

4) Some more time should please
be given to him.

[ Level-3 /1304 ]

50.

51.

52.

Which of the following options
express the correct meaning of the
sentence given below ?

No sooner did I reach the college
than the bell rang.

1) The sooner I reached the
college the earlier the bell
rings.

2) I reached the college and the
bell was rang after.

3) Although I reached the college
the bell began to ring.

4) As soon as I reached the
college, the bell rang.

Change the narration :
He said, "What a charming sight !"

1) He exclaimed with joy that it
was a very charming sight.

2) He exclaimed with joy that
what a charming sight it is !

3) He told with joy that that is a
charming sight.

4) He said to me what a charming
sight it is !

Fill in the blank with the correct
form of the verb :

a lot of calls today.
1) had have

2) hashad

3) have had

4) had had
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53. Which of the following sentences is
the correct option to express a
probable condition ?

1) If I were a bird, I would fly to
you.

2) If you touch a live wire, you
will get a shock.

3) If you will read this book, you
will learn grammar.

4) IfI had reached in time, I could
have saved her.

54. Choose the part of the sentence
that is grammatically incorrect :

He thought / he will be able to do /

A B

whatever he wanted / with his job.
C D

1) A 2) B

3) C 4) D

55. Choose the part of the sentence
that is grammatically incorrect :

The Jews were / most reluctant /

A B
to contribute / in the Palestinian
cause.
C D
1) A 2) B
3) C 4) D

56. The word 'slither' means :
1) lick
3) hinder

2) venomous
4) slide

51.

58.

59.

60.

GET IT ON
Google Play

[15/A]

Fill in the blank with the correct
form of verb :

WhenIlast ............. her, she was
deeply involved in debt.

1) have met 2) met

3) has met 4) did met

Fill in the blank with the correct
option :

How did the thief ...... the padlock.
1) open

2) opened

3) had opened

4) had been opening

Fill in the blank with the correct
'Modal Auxiliary' :

............. you mind lending me
your pen ? (Request)

1) Should 2) Ought

3) Would 4) Must

Arrange the following jumbled
options in the correct order and
then choose the correct option :

(A) is heartening
(B) is going abroad
(C) the news

(D) that she

1) C,D,B,A

2) D,A,C,B

3) D,C,B,A

4) D,C,A,B

[ Level-3/1304 ]
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AW — Il / PART = Il

YW A9 / GENERAL STUDIES
TR AT, b SIS qUT TS 9 U4 SRR / QUANTITATIVE APTITUDE,

REASONING ABILITY AND G.K. & AWARENESS

GET IT ON
Google Play

fraer : fefafad gl & SR 39 & e @98 S faske g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

& A U9 X & 99 IR Ja7 f&am
# R oAl Je F@ @l ©, ol
SHS 919 B H R B

1) I3
2) UltEH

3 T
4) IR-UIRTH

Teh 1 20 fRHl g0 €T &l fasm
¥ uF gue # qur I g0 H@ AW @l
footg s & 2 9@ & @@ O F,
@ AT ST A9 B A ®

1) 10 fH1/=0er
2) 12 fHHI/a9e
3) 13 fHI/aven
4) 15 Al guer

td 8 FfFT SiUh Yed & EfE 3
g 37 aWt B 9 feell @& off @
Ted &, Ol 399 4 fhdd g el g
TS 2N A Yod B 7
1) 0 2) 3
3) 4 4) 5

[ Level-3 /1304 ]

61.

62.

63.

If A stands on his head with his
North,
direction will his left hand point ?

face towards in which

1) North-East
2) West

3) East

4) North-West

A boat goes 20 km downstream in
one hour and the same distance
upstream in two hours. The speed
of the boat in still water is :

1) 10km/h
2) 12 km/h
3) 13km/h
4) 15km/h

In a group of 15 people, 7 read
Hindi, 8 read English, while 3 of
them read none of these two. How
many of them read Hindi and

English both ?
1) 0 2) 3

3) 4 4) 5


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

64.

65.

66.

61.

68.

= |V

TF Fem § 35 foEnii H, A & w®N
9 9 7d W U@ B & WM IW q
oF WM W & T C & &N 37 Nl
H O AT HE, A C & W AH
He-AT B ?

1) od 2) 10df
3) 114 4) 12df

Teh %= e A § 'CEG' &l ‘TSR’
qoT 'FHJ' & 'QPO' fevam om B, &
gl W Wi # IKM' & fom
SR

1) NOP
3) NMK

2) NOL
4) NML

e EAML § fee dfs /= s
SIRC

1) 1 2) 2

3 3 4 4

U R SgYS § SR IOl Ud
9@ B H AT 7:2 B, q 39
TGS I TS B HEA ©

1) 7T 2) 8

3 9 4) 11

el ST @l & T 9
BIRECTIE L
2,3, 10, 15, 26, ?
1) 33 2) 34
3) 35 4) 36

[ Level-3/1304 ]

64.

65.

66.

61.

68.

GET IT ON
Google Play

[17/A]

In a class of 35 students, A is
placed T7th the bottom
whereas B is placed 9th from the

from

top and C is placed exactly
between these two. What is A's
position from C ?
1) 9th 2)

3) 1lth 4)

10th
12th

In a certain code language 'CEG' is
written as "TSR' and 'FH]J' is written
as 'QPO!', then in the same code
language 'IKM' is written as :

1) NOP 2) NOL

3) NMK 4) NML

How many meaningful words can
be formed with the letter EAML ?

1) 1 2) 2
3) 3 4) 4

The ratio of an interior angle to the
exterior angle of a regular polygon
is 7 : 2. The number of sides of the

polygonis:
1) 7 2) 8
3) 9 4) 11

Find the next term of the following
number series :

2, 3, 10, 15, 26, ?
1) 33 2) 34
3) 35 4) 36

P.T.O.
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[18/A]

69. 7T A NI % % &l Tha 8 g2 ¥,
T B T 41 o% P A 6 g H
I o Hhal 21 IR QT A B T
Y 2 g9¢ & U @iem & U9E T
A P F< FK A Y, A 7@ B W
ST & e AT T ?
1) 292§ 2) 2% gue H
3) 3y {  4) 3% gUe H

70. 3R fedt fdea Yo & 38 « 15 = 32,
62 %91 =7 qUT 74 81 =29 &, a
I Yod H 47+ 33 HT 9 B -

1) 40
3) 38

2) 41
4) 53

71. I 17 fRE=R, 2002 @ AqFER o,
o 22 RE=R, 2004 @ H=-d1 &

qr ?
1) aar 2) ER
3) TWER 4) HIEEAR

72. o) F SFET T
Z1A, X2D, V6G, T21], ?
1) R8TM 2) R8IN
3) R88P 4) R88M

73. ST guimr #, & T APmF o
SN STel & HeY Blg U P&

e uh ¥ FH o 9wl g,
frfafag aftmt § fm-9 39w
T I B B 7

1) DJOTV 2) DJOSV

3) DJOSW 4) DIOSU

[ Level-3 /1304 ]

69.

10.

11.

12.

13.

GET IT ON
Google Play

Pipe A alone can fill a tank in 8
hours. Pipe B alone can fill it in 6
hours. If both the pipes are opened
and after 2 hours pipe A is closed,
then pipe B will fill the tank in :

1) 2hours
3) 3hours

2) 2% hours
4) 3% hours

In a certain pattern, if 38 * 15 = 32,
62 * 91 = 7 and 74 * 81 = 29, then
in the same pattern the value of
47 % 33 is:
1) 40
3) 38

2) 41
4) 53

If it was Saturday on 17th

December, 2002, what was the day
on 22nd December, 2004 ?

1) Sunday 2) Saturday

3) Monday 4) Tuesday

The next of the seriesis:
Z1A, X2D, V6G, T21], ?

1) R8TM 2) R8IN

3) R88P 4) R88M

In English alphabet, the number of

letters skipped in between
adjacent letters in the series is
decreased by one. Which of the
following series observes the rule ?
1) DJOTV 2) DJOSV

3) DJOSW 4) DIOSU
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14,

15.

16.

11.

18.

= |V

x-&, y-& T 4x+3y =12 &N
Fftfa Brgst & awrEa @ B @

1) 2 &8 2) 2.5 3B
3) 3 THE 4) 4 B

I8 999 BId & A Hio, o
15463 ¥ g WX 9T IFT%S 107 §
a8 S @

1) 52
3) 71

gl ® g H fhE oTgu H TRy
ST ST 6 gT O b T g W
o T 20% 1 AH & 7

1) 1:5 2) 2:5
3) 3:5 4) 4:5

2) 58
4) 16

us iYEd Ui &1 4% affie W ®
2 a9 % foU wHdfE & @ A
& & I ©

1) 52:51 2) 52:50

3) 51:50 4) 53:50

QﬁA,BHﬂTCﬁZ:é:E ®
235

A F TN B TH AR A
T 4 W16 Uy A N ST G
50% o1 faam 3 af & o F
21,600 YUY FH TN AT &, @ W

A9 H ABEH RE R
1) 2,400 TG 2) 3,600 TW
3) 4,000 54 4) 4,200 TII

[ Level-3/1304 ]

14.

15.

16.

11.

18.

GET IT ON
Google Play

[19/A]

The radius of the circumcircle of
the triangle made by x-axis, y-axis
and 4x+3y =12 is:

1) 2unit 2) 2.5 unit

3) 3 unit 4) 4 unit

Find the least number which must
be added to 15463 so that the

resulting number is exactly
divisible by 107 :

1) 52 2) 55

3) 71 4) 16

What proportion of water must be
added to milk to gain 20% by
selling it at the cost price ?

1) 1:8 2) 2:5

3) 3:5 4) 4:5

The ratio of compound interest and
simple interest on a certain sum at
the rate of 4% per annum for 2

years is:
1) 52:51 2) 52:50
3) 51:50 4) 53:50

If A, B and C enter into a
partnership with shares in the ratio

z : 4 : 6 After
2 3 58

increase his share by 50%. If the
total profit at the end of one year
be Rs. 21,600, then B's share in the

profitis:

4 months, A

1) Rs.2,400 2) Rs. 3,600
3) Rs.4,000 4) Rs.4,200
P.T.O.
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[20/A]

79. TF JAEH 20% BN W Th 98]
SO @, A I I W 12 FW@
HARE H =, @ 3IH 10% H AW
BTl 3 a%g H HY YA ©

1) 22 @ 2) 30 W
3) 36 T 4) 40 TW
80. a*+a* 1-a”
a ta” 1l7a " memy
l-a 1++a
a a—-1
1) 2 2) -
) a—-1 ) 2
2 2
3) 4y 2
) a—-1 ) l1-a

81. Ui Ma G oared ¢ :

1) o R
2) FHoee o

3) IR ot &
4) Gee o |

82. ¥ ERAMI ST, 2023 ¥ HANC
US[d &l Bele fhar ?
1) o9 fqeeg
2) e fasE
3) I e
4) e

83. =T & F=fed Tod@ H A
P T & T SRR ?
1) =t R
2) 4 JIwR g S
3) 48R M= R
4) & gL e guariern
[ Level-3/1304 ]

19.

80.

8l1.

82.

83.

GET IT ON
Google Play

A man sold an article at a loss of
20%. If he sells the article for Rs. 12
more, he would have gained 10%.
The cost price of an article is :

1) Rs.22 2) Rs. 30

3) Rs. 36 4) Rs. 40

Va V2

+l—a
1+\/§

2)

Vo | -
a’+a .
is equal to :

l-a
e

1) I

a

[S

a-1

2
3) 4) i
l1-a

[}
|
—

Historical village Sugh is located
in:

1) Ambala district

2) Kurukshetra district
3) Yamunanagar district
4) Panchkula district

Which Haryanvi conquered Mount
Elbrus in August, 2023 ?

1) Sandeep Bishnoi
2) Rohtash Bishnoi
3) Ajay Khichad

4) Mohit

Who among the following Governors
of Haryana was an ICS officer ?

1) Shri Dharma Vir

2) Shri Muzaffar Hussain Burney
3) Shri Hari Anand Barari

4) Shri Surjit Singh Sandhawalia
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84

85.

86.

81.

= |V

. AEERE WU S G 0 g0 §
1) <9 ¥ 2) Parm ¥
3) g H 4) ead H
Mar S T9RE 9 A9 § "R
S 8 ?
1) s 3§ 2) AELY ¥
3) oM@ d§  4) o H

qg FeeeEE & gx H e
B @l T :

() 9E G & R )
(i) I8 TH TR 9
Gehierd @I, S GarE & &9 § B

7& HE F TIT BN :

1) 399 HIT (i) TEI 2

2) Had B (ii) eI 2

3) T A FAT (i) M A & BT (i)
T B

4) I FAF (i) R (i) T 2

[ Level-3/1304 ]

84.

85.

86.

81.

GET IT ON
Google Play

[21/A]

The evidence of Stupa of Mauryan
period is found at :

1) Topara 2) Bhiwani

3) Thanesar 4) Rohtak

Geeta  Jayanti Samaroh is
celebrated in the month of :

1) Kartik 2) Margshirsh

3) Ashvin 4) Shravana
Who is the Chief Commissioner of

Haryana  Right to Service

Commission ?

1) ShriT. C. Gupta

2) Shri Vijay Vardhan
3) Shri Rajesh Khullar
4) Shri Vikas Gupta

Read the following statements
about Sadhu Nischal Das :

(i) He was a Dadu's disciple.

(ii) He compiled a book 'Vichar
Sagar' which is in form of
dialogue.

Choose the correct code :
1) Only statement (i) is correct.
2) Only statement (ii) is correct.

3) Neither
statement (ii) are correct.

statement (i) nor

4) Both the statements (i) and (ii)
are correct.

P.T.O.
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[22/A]

88. aRIm ¥ RiwRr U= B FE Red

g7
1) fiER 2) U
3) =N 4) g

89. BRI Y TWedrl HW TE AHT
ferpre 1S o &l e &9 g8 ?

1) S¥adl, 1967
2) TR, 1966
3) A, 1980

4) SE{l, 1996

90. sfamm ¥ aRd™ SrEnfiEn

G el Rea © ?

1) HHEId
2) UNgd
3) Tl
4) HBHEA

88.

89.

90.

GET IT ON
Google Play

In Haryana, where the Chinkara
Breeding Centre is located ?

1) Pinjore 2) Panipat
3) Jhajjar 4) Bhiwani
When the Haryana State Co-

operative Agriculture and Rural

Development Board Ltd. was

established ?

1) January, 1967

2) November, 1966
3) March, 1980

4) January, 1996

Where in Haryana, the Indian
Institute of Information Technology
islocated ?

1) Sonipat
2) Panipat
3) Ambala
4) Kurukshetra

[ Level-3 /1304 ]
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AT - IV / PART - IV
& / SANSKRIT
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[23/A]

fraer : fFefafad gl & SR 39 & e @98 S fased gim

91. AHIIIH fOSA PHISTARN: 7
1) Sl 2) e
3) oifasmEifr:  4) e

92. ‘FHIMedl’ - SO wd®: IRd -
1) HAY T
2) W WYIY S
3) Yo UgH el
4) 2fo AT A

93. ‘AR - IuTE: RISR -
) T A

2) PRI I
3) Fag:

94. IMURAE fagy 7T &Y T T

[ Level-3/1304]

95.

96.

91.

98.

HARH™AY Hice e Sl 6 ?
1) e
2) St
3) HSiigt
4) Tde

T+ AT - IO TN TG @0 -
1) &
2) T

3) T
4) TqEN

HANARGAY Yo TEHLMET: T IR —
1) gfewst

2)

3) =ELRY

4) WWBAA:

ey “eeamt sYRTE” -
GGEARTT STaHrE faehed oy -
1) TISSTA], FE—d, HE=T|

2) GIOUIT:, ARATI, JS=Tdaq

3) T, WA, TS|

4) FIRE:, S, TS~

P.T.O.
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[24/A]
. g +3E - ’ - 103. ‘REpe@r’ - E G HA o
RN g, 3 g -
2 ¥ 1) &2 f
3) e %) S
4) [RE %) s
4) =fead

100. ‘UT + 9 S H G IR I °
104. ‘A g Al Reedgaen &

1) S UL 0 -
2) o= fourfa b e
3) ghsfy %) "
4 oS v
4) HIA

101. 39 M YYOAM I 3%, 9 E -

[ .
1) HAAHEHES:

105. ‘RAIsA’ - o afafotenia -

’ 1) RE + s
2) TRIERCTES:
, 2) REg + o=
3) wETE:
‘ 3) f@: + s
4) s
4) REy + o=

102. ‘OGN’ - 3O G- orfd —
106. TES<: QI T Waid —

1) gagae:

1) T
2) TREAR:

2) T
3) I

3) T
4) TEH

4) TO:

[ Level-3/1304 ]
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107. QMY ETEDIRTAC Hed I ?
1) HFeRE

2) I
3) FERfceRe
4) WHEIN<Y

108. ‘BRY T I<:’ TIA AHCIHEY
g -

1) SR [H: I
2) BET T I3
3) BE T 4|
4) B 9 99|

109. Y T FEEA: GO HETeAl
TRTEIwIal TA: HEwe: |
- FARE T RIS ?

1) T

2) s

3) SaleT

4) e

110. ‘UReRIY FRRMAICEN - 3R g
‘A B Gl Hl ?

1) ST e
2) M sl
3) I Gall
4) ARSI G

[ Level-3/1304 ]

111.

112.

113.

114.

GET IT ON
Google Play

[25/A]

‘TN SR @ Bea: IR P
1) gefaeeey
2) IR

3) g=qdl
4) Hifet

Y FRiEd FT - S @iihaus
o AT feriferT: &g ?

4) ordl IS

TEG + FERG - O AfEgE
qeARd —

1) IR
2) TEHIHN
3) IR
4) THIGIRRT

A9 g1 ACABR IaH JEHae b
& &g ?

1) &4
2) W
3) &\
4) ¥

P.T.O.
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[26/A]

115, “‘IANHTHERA BT oo 17 -
Rerreg™ T, faehed R -

1) diear G|
2) UIg-HsT:|
3) G W
4) Ug G|

116. gy SrerEe faehed ey -
1) &l ST -elE-Goe AR
2) T farr-Har-sTameE|
3) B HAR-ARI-ENuIeE|
4) T fadE-agel SreE HETHIem:|
117. $RAA - o dfefaese: o -
1) JTq + Td
2) I +Td
3) I +Td
4) JT: + T
118. ey rewasaEor akd -
1) SOt
2) =Y
3) =Y
4) FEOH

[ Level-3/1304 ]

120.

121.

122.

GET IT ON
Google Play

1) orgumE:
2) JH®:
3)
4) IUET

“TAESIEEN T’ - HE SfrRay ?
1) =TgE:

2) 9w

3) fewm

4) HEMM™:
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123. ‘Goi UMY eSS fEdEn &
AT ?

1) Sreier

2) FHHMT fadrE
3) HHTTEHIAGHI
4) TEOIY AN

124. QU S - o T &9 GAT ?
1) =N
2) ssfaed= Ho
3) rdTeiedST FHHPT
4) FFHN: P

125. THMEY Hesaiddfenaar e & ?
1) TEECT
2) AT sl
3) THMET T
4) TTHTE:

126. ‘T6: BEY WE fqEwd i’ -
U9 A 6 w0 | ?
1) T ¥8 BE: foEmd il
2) T%: BE e feEd T
3) TN BET ¥e faemed T
4) TEON BEY HE fGEmer: T

[ Level-3/1304 ]

121.

128.

129.

GET IT ON
Google Play

[27/A]

SR AUk Rl fe g
g ?

1) @9

2) 3y

3) ¥

4) T

T - T T W -
) 79 + T

2) §L+§§§r

3) Y + T

4) T +TH

2) A& g
3) fare:

4) g

P.T.O.
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[28/A]

130. “‘OEFi FART THER: A’ - o
JHEE 9q -

1) USEGAN
2) TSEFHN:
3) TEFHIR:
4) TEEHAR
131. Gy yog-g=d  AEHEE ol
g -
1) Y-of-srg = Ter fofer:
2) T&-3g-gy = gl fesier:|
3) T-WAH-¥Y = o fwer:
4) -dic-ag = e fasr:

132, HHfeiEay THwe e EHE:
R -

1) FUE TG S SUHVH|
2) T §HIY 3fd ST
3) ofeT: TH i Hwer)

4) TR 3 SRHH]
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3) THIUEAN:
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6. U B JM, I G=h ¥ fraiRg &=t @ & 9| qrEe A 6. Answers to questions in answer sheet are to be given by

T’Sﬁ?ﬂ A %, S 5 < R R darkening complete circle using Black ball point pen as shown
O @@ ® @ below :

&Y B A T W T A S, IR S A @ # O @ ® ®

T TR § 9@ ¥ The answer will be treated wrong, if it is marked, as given below :
g ® & @™ g ® @

R TH Y T GE B A AT T A YR I AT A If you fill more than one circle it will be treated as a wrong

ST answer.

1. 6 Hﬂq-gﬁﬂ?ﬂ ¥ 39 waee & fe & T@ Tt e W E B / Rough work should be done only in the space provided in the
Question Booklet for the same.

8. T IW 397 OMR IR T& T & A | T IR SAMYEH i X I Tae o @ o0 (FHe wgs) H TAT Mg &1/

The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener (white fluid) is not
allowed for changing answers.

9. UF U & fow Ru U AR e § & ot faeey 3 T OMR ST W W F99 T g9 & & [0 T FM a6 @Re 1 W
Tp d I JifFT B B 9B IY To Tl o Gl %I / Out of the four alternatives for each question, only one circle for the most
appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer Sheet. The answer once marked is
not allowed to be changed.

10. =t gifaa & % 50 oW % B Al T I Ud 39 W A I PN T am ot ot i St W § fEiRa e
% oifafted o= 9 fo’dl / The candidates should ensure that the Answer Sheet is not folded. Do not make any stray mark on the
Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer Sheet.

11. J-JKH T S T B ANEE T H, F@ie b 9 oRRefy § [peT-gRae S T & BHE 5 R @ R @
@3%_{] {ﬂ'& a9+ gﬂ?ﬁﬂ T Iuey & Eb'@'lg vn@fn / Handle the Question Booklet and Answer Sheet with care, as under no
circumstances [except for discrepancy in Question Booklet and Answer Sheet Serial No., another set of Question Booklet will not
be provided.]

12. QQ:T—W/BT‘R T 7 ﬁ"\’ T A B 1l e ql% | sEir =@ § € / The candidates should write the correct Number as
given in the Question Booklet/Answer Sheet in the Signature Chart.

13, ol B qlen St/ ¥ 9N w Ol UEEM U & SfaRed Rl SR @ ured-anen, a1 ST FIST 1 ufE, T, AeEEd
'#Ff, Wﬁ% JUHT AT FhE ST TR & G B S AT SUART B ﬂfﬁﬁ &t | / Candidates are not allowed to carry any
textual material, printed or written, bits of papers, pager, mobile phone, electronic device or any other material except the Admit
Card and Identity Card inside the examination hall/room.

14. WA gRT ‘1@ TN W TG A U AN HE I_'aﬂ o] 3R Te=™ U R@W| / Each candidate must show on demand his/her
Admit Card [Roll No.] and identity card to the Invigilator.

15. &= ofed a1 qHaud @ 9w aqgwi%r % fomm ﬁ'% et ST WM T éﬁ%ﬁ / No candidate, without special permission of the

Superintendent or Invigilator, should leave his/her seat.

16. FHERG THAEh B AT I T [U B 06 BEER G W AR eRER U R ol olen e T eieh Ak el erwedt 1
A0 R WK A W EWRR Te Y qF a8 qA O % I IO T AE Adern & AR Fe Sfd | H A qE S
OMR T % 7 FHiRg @M R ¥ 7wl art a1 e & SfS &1 MM @ oI 81 oS & Femey T & &6 919 &
& @l WY @ 9 A & & &g oy oniq @l # AEn 7 9gd 3 & q 7 & §gd B / The candidates should not
leave the Examination Hall without handing over their Answer Sheet to the Invigilator on duty and signing the Signature Chart
twice. Cases where a candidate has not signed the Signature Chart second time will be deemed not to have handed over the
Answer Sheet and dealt with as an unfair means case. All candidates have to affix left hand thumb impression on the OMR
answer sheet at the place specified which should be properly inked i.e. they should not be either over inked or dried in
nature.

11. s@a@*‘rﬁm/mﬁﬁ UReheih 1 SUANT AT 81 / Use of Electronic/Manual Calculator is prohibited.

18. YN & 7 RV & [, v Rerem # & ® ubk/Ren-Few @ 9% & @9 e @ R @ RS e @ ogRa aner &
ol AR # e 9% 3wt o e @ FEAR 8Tl / The candidates are governed by Guidelines/Procedure given in the
Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and Regulations of the Board.

19. el e & QQ:T—W AN TR TF H Eh:fg AT ST 7 & (No part of the Question Booklet and Answer Sheet shall be detached
under any circumstances.

20. TOET @O BN W, ol e/ Bie § U4 IR TS Fe-Tdawd B ofaed A 31 ond oTR | 36 Ue-gRaE @ & o we
% /on completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the Room/Hall. The candidates
are allowed to take away this Question Booklet with them.
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